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01 A|AH| 620,000 1,580,000 A960,000
O+ F8 HAY
250,000,0002x14] = 250,000
A2 250,000
Ok U SZAY
250,000,0008x14] = 250,000
A2 250,000
OATHE 7HYE AZAAOJA| A A|E BCHSt
120,000,0009Ix14! = 120,000
A2 120,000
405 AHAHzISH| 62,400 40,000 22,400
242|201 62,400
01 AMLEZZSH| 62,400 40,000 22,400
OFEAZY| FYUER)
78,00094x5007} = 39,000
A2 39,000
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[dotrAtda]

6

—

075 O @ZORRE Y
O HAIY LT (AE) o

).

ot 2

A
ALY - A RAIZR(AE) OMFAY : 4eZAIE RAES(AE) @S AHLE SH|

dE =

T&,ZO0IFE, A, A M FAY = M= O &F M of A o s
OFEAZY| YU (1A )
78,0002x3007} = 23,400
ARA| 22 23,400
Ao ES T FOIZ| YA 53,333 72,000 ~18,667
Zngzra 16,000
PP 37,333
401 AlgH[Y2CE| 16,000 72,000 56,000
Zngzrza 4,800
2| 2 11,200
01 AlgH| 16,000 72,000 A56,000
OB ZOIRHAIL(EH)
16,000,0008x14] = 16,000
InEz3 4,800
ARA| 2 2 11,200
405 Atz 37,333 0 37,333
Zngzrz 11,200
24|21 26,133
01 AHILUESZZSHI| 37,333 0 37,333
ONTUEE Y ORI AAIA(HOH)
37,333,0009x 14l = 37,333
InEz3 11,200
AR AL 2 26,133
ALt AietALY 1,276,000 7,244,000 | ~5,968,000
ZnEzz 766,000
ANEezR2 96,000
243|211 414,000
403 A2 AHE0| A 1,276,000 7,244,000 | A5,968,000
ZngEzz 766,000
ANEERZ 96,000
AL 28 414,000
02 37| HSOlCHE EAIY| 1,276,000 7,244,000 | 25,968,000
OYYT =4+ Y HH|AY
1,276,000,000%x14! = 1,276,000
IneEzr3 766,000
NEEZRZ 96,000
A2 414,000
FAeAA AL H2ALY 228,800 0 228,800
AL A 228,800
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[dotrAtda]

07 AU @TOREE: BU(E), HoISE S
C|

O MALY | A2 (RH2)

A
o
OCIRIANY : 4 A2 (A1) OMFEAY I 24

=] =

A2 AlAY HxIAY @F : AIMBULCHY

P2 HOISE, UK, BRI HIZAIR 2 HIS oque | S95| 22
401 AlgH[L2C)E]| 228,800 0 228,800
LA A2 228,800
01 AlAH| 228,800 0 228,800
OFHZAZAZ A2 H2|ALY
220,000,000x14] = 220,000
AL AL 220,000
Ot 23 BALAAAY FZAY
8,800,0009x14] = 8,800
2FA|A S 8,800
AHl42| 2| (A1) 2,218,000 1,500,000 718,000
== 459,000
|| A 1,759,000
2] A LHM (RE2) 1,300,000 1,500,000 £200,000
2|2 el 1,300,000
4071 A|GH[L oy 1,300,000 1,500,000 £200,000
243|211 1,300,000
01 AlgH| 1,300,000 1,500,000 200,000
OYTERTAIE 2| x| L ALY
300,000,0008x1 4] = 300,000
A 20 300,000
OY 2| LIS FHZALY
300,000,000x14] = 300,000
A2 300,000
oYY, YL FFE M| H3
150,000,0009x14] = 150,000
A2 150,000
OZ 4+ OipAt 7 A
30,000,00094x14] = 30,000
ARA| 2 2 30,000
oS, Hoi7i2 7tyHIT nx
100,000,0009x14! = 100,000
A2 100,000
Otfj4=2| LAZAIEH| 4
20,000,0009x7714 = 140,000
AEA| 24 2 140,000
oYY+ AMEH| W
50,000,0009x14! = 50,000
A 50,000
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[dotrAtda]

O1E A0t @FOFRE 1 §HE(6), Jotr-sE
C|

OFHALY : A te|(R12) @THIALY : FHiA] 22|(RFE) @MRAIY : FHiSA| AIEINHE(RIE) @5 1 A|GH| LR HH| -
- i =
T&,ZO0IFE, A, A M FAY = M= | AF o4 of AF o4 4
O P W71 A3A3HHR| 42
100,000,000%x1 Al = 100,000
2| 2 100,000
0F+Y 7|erHEY
130,000,0009x 14! = 130,000
AL AL 130,000
e 22 UEAA LEALY 918,000 0 918,000
Zngzrza 459,000
243|201 459,000
401 AlgH[L2CHH] 918,000 0 918,000
2nEzI 459,000
|| A 459,000
01 Al4H]| 918,000 0 918,000
OZ T+ AYUE USHA FEAY
918,000,000x14] = 918,000
IneEzrz 459,000
A2 459,000
=o|2 AR ANt 3,000,000 1,000,000 2,000,000
N[ = 2,370,000
2h3| 21 630,000
T z|0FZ| Q) AlASL Pl 3,000,000 1,000,000 2,000,000
ANEEzZz 2,370,000
A AH 630,000
401 Al H|Y 20| 3,000,000 1,000,000 2,000,000
== 2,370,000
ZFA| A 630,000
01 AlAH| 3,000,000 993,700 2,006,300
Os012 g8 Y
3,000,000,0008x14] = 3,000,000
NERZRZ 2,370,000
A2 630,000
03 AldECyy| 0 6,300 £6,300
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